EARAROBREBRT —5 XN—ZXBISH—F 2021688288 (£) 2@4LIESH

R CE A A S BRI T
[xE<] 1 % 5,700,000 . 23 :2,000,000 3 . 33&:1,300,000 ™ . 43%&:770,000 M 53 :510,000 {
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
117|111 KoF DI+ -3 [B] 33 ?J?)%E/X 1:(4_7).9 6-6-4-2 | 39.9| 86.4 | 6 (4_7;)) ﬁggﬁ@%ﬁ)
AT =N BYVIT—Y MEZST Y R
25l ¥F¥OwFLZ 4 3 ﬁ%ﬁ% 1(}:\1;59 1-1-1-1 | 40.2| 86.6 | 2 (5:)3 giéﬁi)
RiFA IR v— BRTF Ty LT o I A N1 K5
30 BTVFAR 3| B (11:418/.21) 11-11-5-5 | 39.8| 84.7 | 1 (433 %ggz =)
R:STU—FA B:IALVHAT Eoxigin
+ W6 RILYNL < 4 3 %Eﬁog (12418/25) 9-9-9-7 |39.8| 81.3 | 10 (5:);1) ﬁﬁ}ﬁéﬁﬁtjff)
R:STU—FA B:7—FINA K J=HUT7—L
 : BESCEELEIN 3 'JA\/%*{ (11418/47) 12-11-11-12| 39.7 | 79.6 | 5 (4_125) ;g;ﬁg &R
KRRy I—=9ILYI B:TFvhIRL—X rE H
A.B R=YF— 43 geg%(; (17:?% 2-2-7-7 | 40.4| 79.3 | 4 (4:522) 'f;:gf 5’?(?%)
RiRyId—9IVYI B:F7ITRRTTT7U— EERS
d ¢ B LIRIYRNRI— 4 3 ?g&o 1( 74?:? 8-8-5-4 | 40.6| 79.5 | 14 z:gia fggg— (E=)
R:Z2MOAVITVI—Y 8:T7—ITU—LA ERERIS
glgl3l ¥yar—woaviL i3 ?65.)3—*@ 1:{119).0 12-13-12-10{ 39.7 | 77.1 | 9 ig)s ?Eg)%%fz\éﬁif)hj?_b
R:IET7R4A47 &:0-X/—T) J—YUIr—L
9 43 g —~A 43 ?gxﬁi 1(:34/94.)1 7-7-7-7 | 40.6| 77.0 | 8 (4+562) gggz (=)
RV VITVUARS #B:IT7OUR LEBS
00111175970z R 4 3 gﬁ%ﬁéﬂ (11419/243 4-5-9-10 | 40.7 | 74.7 | 13 (4+562) g;ﬁ;ﬁm ER)
Ri/IIURN B:FSIRTIGIN EALKIS
1lsl7 | wx—9— Rymy [B] 303 Sﬁéﬁ%ﬁﬁi (12419/28) 3-2-2-2 | 42.0] 73.0 | 3 ig? m%ﬁ &)
R:F4RAITU—rFvv b~ B:Or—9—TUTFY =IR%US
1207|112/ F¥/Uam2 [B] 3| s 1:?7(;.9 9-9-12-14 | 41.6 | 64.0 | 11 (53(3 ﬁggé &R
RiTT /=X /) B:FAIYIa—IL (B) H&I-—RL—y3vEET 7
138l 14| RAYva=vo 4 3 %Eﬂzfigi (1}_5559% 14-14-14-13| 41.3 | 63.5 | 12 (4_742) i;ﬁg}é%ﬁ)
JUA—Y BUAZVITATS EKRT W R
1 A PEPZ I i3 S%J*Oa&— 1( 751:? 4-2-2-5 | 43.2] 65.7 | 7 (4_722) fggﬁ (ER)
RiXAIZI7—R B TAIVINII— RUARFT—=T)
[ BN
Eh' 53.0-40.2
NOYIA L |6.8-11.1-12.1-12.5-12.4-12.8-13.3-13.3-13.6
@ I1—JF—BEBIEfI
13—7F— 8,2-7(1,3)11,4,9-(6,12)-10(5,13)-14
20—7F— 8(2,7,3)1,11,4,9(6,12) - (5,10)-13-14
30—7+— |[8(3,7)11(10,9) (2,4) (1,6)-5(13,12) 14
43—F— 8(7,11)9(3,10)-(2,4,6) (1,13)5-14,12
o ILRE
B 1" 3,010 JA R 8-11 1,300H & 5-7 3,160 3EE 8-10-11 2,800
B B " 460M4 10-11 1,210/ F5 EE 8-11 4,430 3EE 11-8-10 47,280M
8 130 8-10 180H o= 11-8 13,540
10 1309
ABCDOVTIRHTERERRODDZ, THERAILZETL




